3208 Truck Engine Turbocharged 02Z240745-UP(SEBP1776 - 24) - By Part Number Page | of 7

HOLT Service Information System | Shutdown SIS |

[ Previous Screen ]

< Product: TRUCK ENGINE
Model: 3208 TRUCK ENGINE 02Z
Configuration: 3208 Truck Engine Turbocharged 02Z40745-UP

¢ CE VNOID
Iffu-z;, i3 L-i,#‘f-m.e HARoU MO 1[:.)?.,&— Sote
| s0 tht Lollowive panis,
GRAPHIC #1 Anga You will neto
(cosT HBOUT 7/0 ﬂi’/ao;o)

hde BT Svhs s Yhi cetnlkive SeAl
st =i Gy oREEe

4y - 3088 O
pl = GEOET  AERUET
Lf 6mske -

LL - T3
i97’77’30’ é@sl(_‘ir

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController. CSSISConsistList?calledpage... 09/07/2010



3208 Truck Engine Turbocharged 02240745-UP(SEBP1776 - 24) - By Part Number Page 2 of 7

LY

900203310

GRAPHIC #2

900523370

GRAPHIC #3

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController. CSSISConsistList?calledpage... 09/07/2010



3208 Truck Engine Turbocharged 02Z240745-UP(SEBP1776 - 24) - By Part Number Page 3 of 7

g00523374

GRAPHIC #4

900523382

GRAPHIC #5
900523384

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController. CSSISConsistList?calledpage... 09/07/2010



3208 Truck Engine Turbocharged 02Z40745-UP(SEBP1776 - 24) - By Part Number

.

3208 Truck Engine Turbocharged

Media Number - SEBP1776-24 | Publication Date - 01/09/2010 | Date
Updated - 02/09/2010

4P-4261 PUMP GP-GOV & FUEL INJ
S/N 02Z66136-67071
PART OF 4P-4260 PUMP GP-GOV & FUEL INJ

102458251

ENTIRE GROUP
Ref. Qty. NPR Note Part No. Part Name

Grp 4P-4261 PUMP GP-GOV & FUEL IN)

INDIVIDUAL PARTS

Ref. Qty.  NPRNote GR# Part No. gﬁ;‘: Part Name
1 NPR 1 4P-4259 8  PUMP AS-FUEL INJECTION
(EACH INCLUDES)
NPR 1 1W-3010 1 PUMP AS-FUEL INJECTION
2 NPR 1 ON-5862 1 SPRING-LIFTER
3 NPR 1 4N-2728 1 WASHER-RETAINING
4 NPR 1 7W-8039 1 BONNET-VALVE
NPR 1 4p-3484 1 VALVE AS-CHECK
CNPR 1 8N-1415 1 SPRING-CHECK
NPR 1 7C-9966 1 INSERT
5 NPR 1 4N-0224 1 RING-RETAINING
6 NPR 1 7W-8120 8  BUSHING-TERMINAL
7 NPR 1 ON-5827 8  ROLLER-FUEL PUMP LIFT
8 NPR 1 ON-5817 8  LIFTER-PLUNGER
9 NPR 1 6F-6672 8  SEAL-O-RING
10 NPR 1 2M-5471 2 BOLT
11 NPR 1 6N-1716 1 VALVEAS
12 NPR 1 3)-7354 1 SEAL-O-RING
13 NPR 1 9Y-0546 1 FLANGE AS
14 NPR 1 7E-5346 1 VALVEAS
15 NPR 1 4N-0975 1 GASKET-CHECK VALVE
16 NPR 2 4N-2773 1 SHAFT AS-CONTROL
17 NPR 2 55-0003 1 NUT (5/16-18-THD)
18 NPR 2 4N-2708 1 SETSCREW
19 NPR 2 4N-0528 1 SHAFT-LEVER
20 NPR 2 4N-9828 1 SHAFT AS-CONTROL
21 CNPR 2 4N-3922 1 LEVERAS
22 NPR 2 2N-2658 10 gg)l(.}ssgscz% HEAD (8-
23 NPR 2 9N-5820 8  LEVER-CONTROL

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController.CSSISConsistList?calledpage...

Page 4 of 7

09/07/2010



3208 Truck Engine Turbocharged 02Z40745-UP(SEBP1776 - 24) - By Part Number

‘

24
25
26
27
28

29
30

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45

46
47
48
49
50
51
52
53
54
55
56
57

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController. CSSISConsistList?calledpage...

NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR
NPR

. NPR

NPR

NPR

NPR

NPR
NPR
NPR
NPR
NPR

 NPR

NPR
NPR

NN NN NN N NN N NN

N

W W W W W w N NN NN N NNNNDNNNDNNN

126-4144
124-5941
7C-6201
7C-6202
6F-0612
6L-3921
6N-4176
4N-0445
2M-7819
4N-0523
2D-6392
4N-3329
6N-7523
8F-8178
1D-4533
2A-4781
8N-3946
4N-2333
8S-6814
95-4182
31-7354
8N-3945
2W-4037
9Y-4966
2D-6392
3H-0442
128-7347
7X-2395
0S-1615
31-7354
95-4182
8H-3127
95-9332
124-5939
6D-3031
4N-0941
4N-0505

H oW W oE Rk NN R R e

N =

LEVER-SHAFT
SHAFT-CONTROL
LEVER-SEAT

LEVER

NUT-JAM (1/4-28-THD)
WASHER-SPECIAL
SETSCREW
LEVER-LOAD STOP
RING-RETAINING
DOWEL-STOP SUPPORT
SEAL-O-RING

WASHER (16.25X25.65X0.79-MM)

WASHER (6.48X11.9X1.57-MM
THK)

BOLT (1/4-20X3.25-IN)
BOLT (1/4-20X2.25-IN)
BOLT (1/4-20X2.75-IN)
HOUSING AS-GOVERNOR
PIN-SPRING
PIN
PLUG-O-RING
SEAL-O-RING
BUSHING-TERMINAL
SEAL-LIP TYPE
VALVE AS-RELIEF
SEAL-O-RING
SEAL-O-RING
LEVER AS-RISER
BOLT-LOCKING
BOLT (1/4-20X0.75-IN)
SEAL-O-RING
PLUG-O-RING
BOLT (1/4-20X0.75-IN)
FITTING-ELBOW

COVER-FUEL PUMP HOUSING

SCREW-SOCKET HEAD (8-
32X0.375-IN)

LEVER-LIMITER

GASKET-HOUSING

Page 5 of 7

09/07/2010



3208 Truck Engine Turbocharged 02Z40745-UP(SEBP1776 - 24) - By Part Number

58

59
60

61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
cL
77
78
79
80
81
82
83
84
85
86
87
88
89
90

N 3 128-2974 1 HOUSING AS (SHUT-OFF) rj | Q @/ o
@41\1-3713\1 SEAL-LIP TYPE \ *l)/ u*"g

NPR 3 127-7139 1 GASKET-TOP COVER N PU,P" {’“\’0

NPR 3 132-2117 1 HOUSING AS-PUMP 0 y !

NPR 3 95-4180 1 PLUG \'J' 1:,cﬁtp gt

NPR 3 417533 1 SEAL-O-RING 5"’\*’ o 0

NPR 3 9N-5821 D DEFLECTOR-PULSE \/"ﬁ

NPR 3 4N-1826 2 DOWEL

NPR 3 2D-6392 2 SEAL-O-RING

NPR 3 4N-2333 1 PIN-SPRING

NPR 3 8N-0984 8 PIN-SPRING

NPR 3 4N-5481 1 STUD

NPR 3 1P-4001 1 FITTING

NPR 3 4N-0556 1 GASKET-GOVERNOR HOUSING

NPR 3 4N-0532 1 GASKET-COVER

NPR 3 4N-0531 1 COVER-IDLE SCREW

NPR 3 6L-1756 2 BOLT (1/4-20X1.5-IN)

NPR 3 4N-0938 1 SHAFT-LEVER

NPR 3 4N-0940 1 LEVER-SHUTOFF

NPR 3 124-5942 1 SHAFT-SOLENOID

NPR 4 OF-6641 4  BOLT (5/16-18X1.25-IN)

NPRCL 4 4N-2954 1 SLEEVE-CAMSHAFT

NPR 4  299-2059 1 SLEEVE-CLA

NPR 4  4N-1132 1 BODY AS-TRANSFER PUMP

NPR 4 85-6814 1 PIN

NPR 4  4N-1584 1 SEAL-LIP TYPE

NPR 4  4N-0636 1 SEAL-LIP TYPE

NPR 4  8H-9804 1 SHAFT-PUMP IDLER

NPR 4  4N-0429 1 GEAR-PUMP (15-TEETH)

NPR 4 4N-0406 1 GEAR-PUMP (10-TEETH)

NPR 4  5M-6509 1 SEAL-O-RING

NPR 4  4N-1767 1 VALVE-BYPASS

NPR 4  4N-0605 1 SPRING

NPR 5 4N-4276 1 SEAT-SPRING

NPR 5  4N-6408 1 PISTON AS

NPR 5 4N-6406 1 RING-SPACER

NPR 5  4N-6404 1 RING-RETAINING

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController. CSSISConsistList?calledpage...

Page 6 of 7

09/07/2010



3208 Truck Engine Turbocharged 02Z40745-UP(SEBP1776 - 24) - By Part Number Page 7 of 7

SPOOL-DASHPOT

SPRING-DASHPOT
SEAT-SPRING
RISER-GOVERNOR
RACE-THRUST BEARING
BEARING-THRUST
RING-LOCK
KEY-CAMSHAFT
CAMSHAFT AS
CAMSHAFT-FUEL PUMP
CARRIER-WEIGHT
BOLT-SOCKET HEAD
SHIELD-CARRIER
WEIGHT-GOVERNOR
DOWEL
SHAFT-WEIGHT CARRIER
DOWEL
WASHER-THRUST

91 NPR 5 4N-6407 1
92 NPR 5 6N-2517 1
93 NPR 5 2wW-8623 1
94 NPR 5 4N-0434 1
95 NPR S 4N-2927 2

NPR 5 7M-7219 1
96 NPR 5 4N-2953 1
97 NPR 5 4N-3779 1
98 NPR 5 7W-6827 1

NPR 5 7w-6831 1
99 ~ NPR 5 8N-2663 1
100 NPR 5 8N-2662 3
101 | NPR 5 4N-1723 1
102 NPR S 4N-0425 3
103 NPR S 4N-0511 3
104 NPR 5 4N-5482 1
105 NPR 5 4N-9019 1
106 - NPR 5 O9N-5822 1
Key:
CL - Classic Part Available

SMCS Codes

Copyright 1993 - 2010 Caterpillar Inc.
All Rights Reserved.
Private Network For SIS Licensees.

Tue Sep 7 13:02:08 CDT 2010

https://sisweb.cat.com/sisweb/servlet/cat.cis.sis.PController. CSSISConsistList?calledpage... 09/07/2010



